EARAZROREIERT — 2 N—XBISY —F 2018558 27H (H) 3MEIEF2H

m 3m IR 3® (xwlw | mEmml - v ) 0w 8
[AE4£] 1 7% :500,000 ™ ~ 2#&:115,000  ~ 33#&:65000 H ~ 43#%&:45,0008™ 5 3&:25,000 @
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NN o= FER :00. - . — ZILE— KR
HLZRNLTY 4 3 by 1(0_0)1 2-2 36.3 1 ;1_035) ﬁiﬁ%i‘a%( )
A=K7 71% B:L—UH%14AKHT B 77—L
o = o L7 ERA :00. — . — HRIEZHAI (KR
YIZ2yITTE—L 4 g 54.0 (12010/25) 5 %.4 8 ?_4; EHth
RixrgAqO— B:FIILNO-X willl R2dE
SLLTAN 4 3 f?s‘% 1:80>.7 4-3 36.7| — 4 478 ;ﬁ%‘% §(7K>R>
RixAAYagk—5— B:/ILTULHh (-5) WE &
. N L AER & :01. - . - 1EEKEZ (KR
Sy T4 AE—L 4 3 o 1 (041) 3 5-5 36.8 5 (4:139) il B2
L:Avaizgyr—2 B:7IVIIUT RE FHE
7 i3 | B 1:01.6 1-1 38.0 — 2 410 | EBERE (KR)
5011 | HE/ V% 54.0 (1 1/2) o |HA—R
LT RYAYE—F Bivq4xTsb A —8l
® I—F—@EBIERL
13—-7-
23—7F—
== 1,3,5,2,4
431—F— 1,3,2,5,4
[ N5
B 3 1209 794K 3-5 150 B & 3-5 330 &R 2-3-5 540/
# B 3 1004 2=3) 190M B H Bg0 4008 EE G2 1,130
5 180M 2-5 170H

ABICOVWTRDTEEERROODE. TR LIV,



